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(A) BB KB HH100kN/ MEBZ BX DD H DR KIBEKN/M) (BE) HEEIIMEB ISR B O HIED HDRKIEKN/M) e 5 E =
(B) (MBS HHEEM AT HADLEEDBHS(m) (F) EF LHREN AT IBEDLEEDES(m) STFEAR FTTE RHET™ FRHE
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
(D) C)A LHLEEMMERTIBANDLTEZNEE(m) H) QNS ZBREMERTIBEDTAZEDEE(m)
FMETHIVTADEIEEDHDKRES REMNBAOLIEEOAOKRES

XHES i &

(A) (B) (c) (D) (E) (F) (G) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) 119.8 1.0 98.8 1.0 - - 1.4 2.3 118.3 1.0 96.3 1.0 - - 1.4 2.3
( 2) - - 96.9 1.0 - - 12.2 2.4 - - 91.5 1.0 - - 12.2 2.4
( 3) 110.3 1.0 99.9 1.0 - - 10.9 2.2 106.7 1.0 98.8 1.0 - - 10.2 2.0
( 4) - - 91.9 1.0 - - 13.4 2.7 - - 89.5 1.0 - - 134 2.7
( 5) - - 91.9 1.0 - - 9.8 1.9 - - 89.5 1.0 - - 9.8 1.9
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